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Despiteour bestefforts to eliminatetypographicakrrors,several have beenfound. If
youfind others pleasdet usknow at

ryates@winlab.rutgers.edu or dgoodman@winlab.rutgers.edu
Notethatin thefollowing, list, thelabelsareintendedo bereadin the following way:
e Page4 Line +6 meanss linesdown from thetop of page4.
e Page8Line -5 means linesup from the bottomof pages.

e Page 23 Def 1.8, Line +4 meansthe fourth line of Definition 1.8. Similarly, line
numberingwithin a theorem,problem,or figure captionstartswith the first line of
thatitem.

Hereis theactualcorrectionlist for thefirst printing:
e Pagexi Line -8: Startingquotes’ shouldbe*.
e Pagexii Line +11: Word Wide Web shouldbeWorld Wide Web

e Page 19 Theoreml.10: The words Law of Total Probability shouldbe boldfaced
Law of Total Probability

e Page?23Line -14 (just precedingDefinition 1.8) mutually exclusivesetsshouldbe
independengévents

e Page23Def1.8,Line +4: A,+1 shouldbe A,

e Page28Line -6: for the selectingshouldbe for selecting

e Page3lLine +2: M — N bitsshouldbeN — M bits

e Page38Probleml.4.7,Line 3: i > nshouldbei > m

e Page6lLine -1: Thedisplayedequationatthe bottomof the pageshouldbe
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Page81 Problem?2.2.9:six tries shouldben = 6 tries

Page81 Problem2.3.6:randomvariable, K shouldberandomvariable B
Page84 Problem2.6.6:geometricandomshouldbe geometricrandom
Page85 Problem?2.7.6: geometricandomshouldbe geometricrandom

Page 85 Problem2.8.6: In part (a), the repeatedstatemenpf the PMF Px (x) is
redundant

Page87 Line -12: ThisChaptershouldbe Thischapter

Page96 Line -4: Correspondingo the Theoemshouldbe Correspondingo Theo-
rem

Page138Theorend.13Line 3: ando,/a shouldbeandac
Pagel38Line -8: tht shouldbethat

Page148 Theoremd.18: Part (d) shouldreadfx (o) = gd(0).
Page159Problem4.1.1:Part (b) shouldbe Whatis P[-1/2 < X < 3/4].
Pagel61Problem4.4.11: Thedifficulty shouldbe ¢ ¢

Pagel71Line 8: Thedisplayedequationsnarked (Figure5.2b),(Figure5.2c),and
(Figureb.2d)have thewrongintegral limits. Thethreeequationshouldread
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Fx,y(x,y):/ / 2dudv=2y—y*  (Figure5.2d)
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Page199Problem5.8.3:1n part(a), function?shouldbe deleted

Page200Problem5.8.7: The problemshouldstartwith Considerrandomvariables
X,Y,andW from...

Page200Problem5.9.3,Line +2: Var[y| shouldbe Var[Y]
Page200Problem5.10.2,Line +1: Let XXy, ..., X, shouldbelLetXy,..., X,



Page270 Theorem8.6, Line +1: Theorem8.6 shouldstartlf X hasfinite variance
thenfor anyconstantc . ..

Page270Line +5: Theoem8.6(a)shouldbe Theoem8.6

Page270Line +6: Thedisplayedequationshouldread
P[[Mn(X) — x| > ¢] = 1= P[|Mn(X) — px| < c]
Page276 Problem8.2.2,Line +3: X is within k standad deviationsof ... should

readX is more thank standad deviationsfrom...

Page276 Problem8.2.3,Line +3: standad deviationsof ... shouldreadstandad
deviationsfrom...

Page312 Theorem9.4 Shouldstart: If X hasfinite variance thenthe samplemean

Page317Problem9.2.1: Ao andA1 shouldbe ag anda

Page317Problem9.3.1,Line -3: Whatis theacceptanceegion shouldbe Whatare
theacceptanceegions

Page318Justprecedinghefigurein Problem9.3.2,s111 shouldbe s 11

Page318Problem9.3.6:1n part(a), Sketch thedecisionregionsshouldbe Sletch the
acceptanceegions

Page318 Problem9.3.7,Line -2: whenyE =1, and... shouldbewhenao = 0.8,
E=1,

Page319Problem9.4.2,part(b): Xv (y) shouldbe % (y)
Page319Problem9.4.3part(c): ox,y shouldbeCov [X,Y]
Page319Problem9.4.3part(e): pmf shouldbe PMF
Page319Problem9.4.3part(g): emmse(—3) shouldbe &y (—3)
Page319Problem9.4.4part(b): G(V) shouldbeU, (V)

Page319Problem9.5.1: Thedisplayedequationshouldread

[ 1/12 -6<Vv<6
fv(v) = { 0 otherwise

Page324Tablel0.1,line +7: hlinecos2mtfgt shouldbe cos2mfgt



Page326 Theorem10.1Proof, Line 3, Line 5, Line 8: eachinstanceof Ry (t,t + 1)
shouldbeRy (t, 1)

Page332Line -14,Line -9, Line -8, Line -7: eachinstanceof Ry (t,t + 1) shouldbe
Ry(t,T)

Page332Lines-12and-11: Ryx(t,t+ 1) shouldbe Ryx (t,T)
Page332Lines-12and-11: Rxn(t,t 4 1) shouldbe Rxn (t,T)
Page333Theoreml0.6,Line +3: Rxy(t,t+ 1) shouldbeRxy (t,T)
Page333Theoreml0.6Proof,Line +3: Rxy(t,t + 1) shouldbe Rxy(t, 1)
Page339Quiz 10.5,Line 3: Ry(t,t+ 1) shouldbeRy (t, 1)
Page342Problem10.1.1,Line +3: IS shouldbels
Page342Problem10.2.1:Parts(a) and(b) shouldbereversed.
Page343Problem10.4.1,Line +2: Cx(t,t + 1) shouldbeCx (t, 1)
Page378Theoreml1.25:In thedisplayedequationR(t) shouldbeR;(t).

Page387 Theorem11.30: In the displayedequation,jn boththe numeratorandde-
nominatorof theright side,the startingindex j = 1 shouldbe j =0

Page387Line -1: aGenearl shouldbea Geneal

Page392Problem11.1.2,Line 3: In the displayedequationprecedingpart(a), the
denominatoontheright sideshouldbe j! insteadn!

Page394Problem11.4.1:The @ difficulty symbolis missing
Page394 Problem11.8.1:The @ difficulty symbolis missing

Page 394 Problem11.8.3,Line -5: (measued in minutes)shouldbe (measuedin
seconds)

Page394Problem11.8.3,Line -4: 2 minutesshouldbe 120seconds
Page394Problem11.9.1:Thedifficulty shouldbe B insteadof ¢

Page 395 Problem11.11.6: The final sentenceshouldreadFind the limiting state
probabilitiesfor this queuewhenthe arrivals are Poissonwith rate A and service
timesare exponentialwith meanl/p.



